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Thm 2.20 (Excision Theorem).

1)IfZ CA°C X, theni: (X —Z,A~Z) < (X, A)
induces isomorphism: H,(X — Z,A— Z) = H,(X, A)
2) f X =A°UB° theni: (B,ANB) = (X, A)
induces isomorphism: H,(B, AN B) = H,(X, A)

Note (1) and (2) are equivalent {let B = X — Z).

Defn: The pair (X, A) is good if A # @ and IV such that 4 C V° € X and V
deformation retracts onto A.

——

Thm: If (X, A) is good, then Hn(X, A) = Hy(X/A).

Proof:
H,(X, A) Zﬁﬁ Hy(X,V) <—f-; H,(X — AV — A)
q*\ q.[ %
Ho(X/A, AJA) — j‘ o Ha(X/AV/A) 4—% Ho(X/A— AJA,VIA— AJA)



